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SOLVE each inequality. Circle the solution. Then GRAPH its solution.
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SOLVE each comsp un;i emequallty Circle the solution. Then GRAPH its solution.
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Solve each compound inequality and graph
its solution. THINK!
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Solve each compound inequality and graph its solution.
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Sketch the graph of each linear inequality.

13) y=-2x-35 4
14 <——x-1
\ , )y s
! 5 4!, \ y
‘ | EEEEEREEN
1 ‘R—_————- N 1]
1 B —_3———__ |
f_-s T B \2 I(_) 1 g \\ IR
: <% 5 &b P ¥ : “x
L : 2 N ]
= ! } i N
N L 5
o) RS 6,)
6> -S T 6{-1F



